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LÃ[˝”Ã[˝› ◊X„V¤` / Important Instruction 

%ÁGÁ]› ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘ÁÃ^ (T.E. Exam.) XT«ˆX [˝Ó[˝ÿöˆÁ %UÔÁd Y“`¬ac˜ =w¯Ã[˝ Y«◊ÿôˆEıÁ (QPAB) Y“[˝Tˆ¤X EıÃ[˝Á c˜„[˝* 
Ac˜O XT«ˆX [˝Ó[˝ÿöˆÁÃ[˝ aÁ„U YÃ[˝›l˘ÁUfi„VÃ[˝ %\ˆÓÿöˆ EıÃ[˝ÁÃ[˝ LXÓ [˝Tˆ¤]ÁX %X«`›_X Y‰y Y“◊Tˆ◊ªRÙO Y“‰`¬Ã[˝ ◊X„V¤` %X«^ÁÃ^› 
◊X◊V¤rÙ ÿöˆÁ„Xc˜O =w¯Ã[˝ ◊V„Tˆ c˜„[˝* 
New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the 
coming Term End Examination. To get the candidates acquainted with the new system, 
now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP Term End Examination December-2019 & June-2020 

1. Date of Publication : 14/02/2020 
2. Last date of Submission of answer script  by the student to the study 

centre 
: 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 
4. Date of evaluated answer scripts distribution by the study centre to 

the students (Students are advised to check their assignment marks 
on  the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No change / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 
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◊[˝\ˆÁG - Eı 
Group - A 

Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 20 × 2 = 40 
Answer any two questions :  
1. (a) Â\ˆÁGÓ V–[˝Ó ◊X[˝ÔÁªJÙ„X y‘][˝ÁªJÙEı =Y„^Á◊GTˆÁ Tˆ„√º¯ [˝Ó[˝c˜÷Tˆ ◊XÃ[˝„Yl˘ ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? ◊XÃ[˝„Yl˘ ÂÃ[˝FÁÃ[˝ 

È[˝◊`rÙÓm◊_ ◊ªJÙy ac˜„^Á„G [˝SÔXÁ EıÃ[˝”X* 
  What do you mean by the indifference curve used in the determination of the 

quantity of consumption in the ordinal utility theory of demand ? 
  Describe the properties of an indifference curve with the help of diagram. 
 (b) [˝Á„LªRÙO ÂÃ[˝FÁÃ[˝ Y“E ı◊Tˆ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* V«◊ªRÙO V–„[˝ÓÃ[˝ Âl˘‰y y‘][˝ÁªJÙEı =Y„^Á◊GTˆÁ Tˆ√º¯ 

%X«^ÁÃ^› \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ Ây‘TˆÁ V–[˝Ó V«◊ªRÙO EıTˆ Y◊Ã[˝]Á„S y‘Ã^ EıÃ[˝„[˝ ◊ªJÙy ac˜„^Á„G [˝ÓÁFÓÁ EıÃ[˝”X*  
   10 + 10 
  Explain the nature of the budget line with the help of a diagram. 
  Explain with a diagram in what quantity the consumer will consume the two 

commodities in equilibrium according to the ordinal utility theory of demand when 
only two commodities are available to the consumer. 

2. (a) ÿëˆîEıÁ_›X GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁÃ[˝ %ÁE ı◊Tˆ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* GQÕˆ [˝ÓÃ^ C Y“Á◊‹ôˆEı [˝ÓÃ^ ÂÃ[˝FÁÃ[˝ ]„W˝Ó 
a+EÔı ◊ªJÙy ac˜„^Á„G [˝ÓÁFÓÁ EıÃ[˝”X* 

  Explain with a diagram the shape of the short run average cost curve. 
  Explain the relationship between the average cost curve and the marginal cost curve 

with the help of a diagram 
 (b) ÿëˆîEıÁ_›X C V›HÔEıÁ_›X Y“Á◊‹ôˆEı [˝ÓÃ^ ÂÃ[˝FÁÃ[˝ ]„W˝Ó a+EÔı ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* 10 + 10 
  Explain the relationship between the short run marginal cost curve and the long run 

marginal cost curve with the help of a diagram.  
3. (a) Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ ZıÁ„]ÔÃ[˝ ÿëˆîEıÁ_›X Â^ÁGÁX ÂÃ[˝FÁ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O 

Â^ÁGÁX ÂÃ[˝FÁÃ[˝ aÁc˜Á„^Ó ◊Eı\ˆÁ„[˝ ◊`„îÃ[˝ ÿëˆîEıÁ_›X Â^ÁGÁX ÂÃ[˝FÁ ◊XSÔÃ^ EıÃ[˝Á ^ÁÃ^ [˝ÓÁFÓÁ EıÃ[˝”X*ı 
  Explain the short run supply curve of the firm under perfectly competitive market 

with the help of a diagram. 
  Also explain how the short run supply curve of the industry can be derived from this 

supply curve. 
 (b) AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝ÁÃ[˝›Ã[˝ V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* Y…SÔ Y“◊Tˆ„^Á◊GTˆÁÃ[˝ 

[˝ÁLÁ„Ã[˝ ZıÁ„]ÔÃ[˝ V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ[˝ a„Ü AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝ÁÃ[˝›Ã[˝ V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ[˝ 
YÁUÔEıÓ ◊Eı ?ı 10 + 10 

  Explain the long run equilibrium of the monopolist with the help of a diagram. 
  What is the difference between the long run equilibrium situation of a firm under 

perfect competition and the long run equilibrium situation of the monopolist ? 
4. (a) Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ◊ªJÙyac˜„^Á„G [˝∞RÙO„XÃ[˝ Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁÃ[˝ Tˆ√º¯ [˝SÔXÁ 

EıÃ[˝”X* 
  What is meant by marginal productivity ? Explain with a diagram the marginal 

productivity theory of distribution. 
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 (b) [˝∞RÙO„XÃ[˝ Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁ Tˆ„√º¯Ã[˝ AEı◊ªRÙO ◊[˝ÿôˆÁ◊Ã[˝Tˆ a]Á„_ÁªJÙXÁ EıÃ[˝”X* =YÁVÁ„XÃ[˝ VÁ] ◊XW˝ÔÁÃ[˝„S 
%ÁW˝«◊XEı Tˆ„√º¯Ã[˝ a„Ü Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁÃ[˝ Tˆ„√º¯Ã[˝ YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X* 10 + 10 

  Criticise, in detail, the marginal productivity theory of distribution. 
  What is the difference between the modern theory and the marginal productivity 

theory in determining the price of an input ? 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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◊[˝\ˆÁG - F 

Group - B 

Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
Answer any three questions :  
5. a«c˜O◊LÃ[˝ ÂEıÁS^«N˛ ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝ ]„Qˆ„_ %◊_„GÁY◊_ [˝ÁLÁ„Ã[˝ AEı[˝ÁÃ[˝ VÁ] ◊ÿöˆÃ[˝ c˜„Ã^ ÂG„_ ÂEıX Âac˜O VÁ] 

aªJÙÃ[˝ÁªJÙÃ[˝ Y◊Ã[˝[˝◊Tˆ¤Tˆ c˜Ã^ XÁ Âa◊ªRÙO ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* 12 
 Explain with a diagram the price rigidity in Sweezy's Kinked demand curve model for an 

oligopolistic market.  
6. V–„[˝ÓÃ[˝ [˝ÁLÁ„Ã[˝ %Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ A[˝e `“„]Ã[˝ [˝ÁLÁ„Ã[˝ Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ UÁEı„_ ◊X„Ã^ÁGEıTˆ¤ÁÃ[˝ \ˆÁÃ[˝aÁ]Ó 

ÂEıÁUÁÃ^ HªRÙO„[˝ ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* 12 
 If the product market is imperfectly competitive and the labour market is perfectly 

competitive, find out the equilibrium position of the firm as employer of labour with the 
help of a diagram.  

7. a«„VÃ[˝ c˜ÁÃ[˝ ◊XW˝ÔÁÃ[˝„SÃ[˝ LXÓ @S„^ÁGÓ Tˆc˜◊[˝_ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 12 
 Discuss the Loanable Funds theory in the determination of the rate of interest. 
8. LÁTˆ›Ã^ %ÁÃ^ EıÁ„Eı [˝„_ ? %ÁÃ^ Yà˘◊Tˆ„Tˆ ÂV„`Ã[˝ LÁTˆ›Ã̂  %ÁÃ^ ◊Eı\ˆÁ„[˝ Y◊Ã[˝]ÁY EıÃ[˝Á c˜Ã^ ? ÂEıÁ„XÁ ÂV„`Ã[˝ 

LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]Á„YÃ[˝ a]Ã^ ◊Eı ◊Eı %a«◊[˝W˝ÁÃ[˝ a∂ˆÇ«F›X c˜„Tˆ c˜Ã^ [˝ÓÁFÓÁ EıÃ[˝”X* 1 + 6 + 5 
 What is national income ? How is national income measured through income method ? 

What are the difficulties one has to face while measuring national income of a country ? 
9. Y“G◊Tˆ`›_, a]ÁX«YÁ◊TˆEı C %„W˝ÁG◊Tˆ`›_ EıÃ[˝ EıÁ„Eı [˝„_ ? aÃ[˝EıÁ„Ã[˝Ã[˝ EıÃ[˝Á„Ã[˝ÁY X›◊Tˆm◊_ ◊[˝`V\ˆÁ„[˝ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 9 
 What do you mean by progressive, proportional and regressive taxation ? What are the 

various canons of taxation followed by the Govt. ? 
10. ]«V–Áÿˆïı›◊TˆÃ[˝ [˝Ó[˝W˝ÁX ◊ªJÙy ac˜„^Á„G [˝ÓÁFÓÁ EıÃ[˝”X* ◊Eı\ˆÁ„[˝ ]«V–Áÿˆïı›◊TˆÃ[˝ [˝Ó[˝W˝ÁX V…Ã[˝ EıÃ[˝Á ^ÁÃ^ ? 7 + 5 
 Explain with a diagram the concept of inflationary gap. 
 How can the inflationary gap be closed ? 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer : 
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◊[˝\ˆÁG - G 

Group - C 

Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
Answer any four questions :  
11. =~Ã^X [˝ÓÁ·¯m◊_Ã[˝ EıÁ^ÔEı_ÁY [˝SÔXÁ EıÃ[˝”X* 6 
 Describe the functions of development banks. 
12. c˜‰ÆœÙÃ[˝ [˝Á◊SLÓªJÙy‘ a+◊EÔıTˆ %Á◊UÔEı Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 6ı 
 Discuss the monetary theory of Hawtrey in explaining the business cycle. 
13. ""Â_X„VX [˝ÓÁ_Á„≥a aEı_ a]„Ã^c˜O a]TˆÁ Ã[˝„Ã^‰ªK˜*''— Ac˜O =◊N˛◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 6 
 "Balance of payments always balances." Explain. 
14. `“◊]Eı ae„HÃ[˝ aep˚Á ◊VX* `“◊]Eı ae„HÃ[˝ ]L«◊Ã[˝ [˝ ◊à Ã̆[˝ l˘]TˆÁÃ[˝ a›]Á ◊XW˝ÔÁÃ[˝SEıÁÃ[˝› ◊[˝bÃ^m◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 2 + 4 
 Define Trade Union. Discuss the factors that limit the power of the trade union in 

increasing the wage rate of workers. 
15. ªJÙÁ◊c˜VÁÃ[˝ YÁÃ[˝&◊Ã[˝Eı ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ aÁc˜Á„^Ó ◊Eı\ˆÁ„[˝ V–[˝Óm◊_Ã[˝ Y“E ı◊Tˆ LÁXÁ 

^ÁÃ^ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 4 + 2 
 Explain the cross elasticity of demand. How can the nature of the commodities be 

ascertained by this concept ? 
16. "%ÁW˝Á FÁLXÁÃ[˝' W˝ÁÃ[˝SÁ◊ªRÙO ◊ªJÙy ac˜„^Á„G [˝ÓÁFÓÁ EıÃ[˝”X* 6 
 Explain with a diagram the concept of 'Quasi-rent'. 
17. %„UÔÃ[˝ aep˚Á ◊VX* %„UÔÃ[˝ EıÁLm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 2 + 4 
 Define money. Explain the functions of money. 
18. y‘][˝ÁªJÙEı =Y„^Á◊GTˆÁ Tˆ„√º¯ Ây‘TˆÁÃ[˝ \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ a]Y“Á◊‹ôˆEı =Y„^Á◊GTˆÁ ◊[˝◊W˝◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 6 
 In the ordinalist utility approach, explain the equi-marginal utility principle in an 

equilibrium situation for a consumer. 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer :. 
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ªJÙT«ˆUÔ =w¯Ã[˝ / Fourth Answer : 
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